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five questions : o
that mmm two algorithms A and B for a given problem P.

‘the help of a diagram.
re the growth of a function? Explain with an example.

ow steps clearly. 5+2+3
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), 1AI’Pl)’ dynamic programming approach to find the following matrix chain multiplication AjAA, A,
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lion of a greedy algorithm approach is that it does not always lead to a global optimal
Justify this statement by means of an example or illustration.

een the Greedy approach and Dynamic progamming approach.
yd “ orithm to the following graph G. Show all the steps.
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Use Prim’s algorithm to find the minimum spanning tree of the following graph using Greedy
method. Show all the steps.

2+2+6

Write an algorithm for Quicksort that sorts the elements of an array a[l..n] in descending order
using Divide and Conquer strategy.

Find the best case and worse case time complexities for the algorithm written above. 6+4

Briefly state the graph colouring problem with an example.
Solve the following Travelling Salesman Problem (TSP) using Dynamic approach.
There are four cities 1, 2, 3 and 4. Start from city 1 and visit all the cities.

The complete, undirected, weighted graph G is given below.



